MATH 152, Dr. Z. , Answers to Practice for Second Midterm
(a) div. (b) div.

conv.
(a) conv. (b) div.

N=100000

(a) conv. (b) div. (c) div.

(a) conv. (b) conv. (d) div.

1/8 +2/75+ 7/1250 ; error <= 1/500.
(a) conv. (b) div. (c) conv.

. (a) abs. conv. (b) cond. conv.

10. (a) abs. conv. (b) div.

11. R =3; (=5, 1).

12. R =3; [-5,1).

13.

© 0N W

oo

Z (—1);16” gt

interval of convergence: (—1/2,1/2).
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radius of convergence= 2.

15.
o0 ’I’L 3 22n
R
16.
i n22n E)Zn
4
n=0
17. -
g n+1
|
n=0 n
18. 5
2r — 622 + —a® — bat +
19.
o 1
1/10 _ 10 \..n
(rapo =3 (W)an
n=0
or (in ... notation)




1.01'/19 is appx. 1.0010 .
20.




